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1 MACROBUTTON MTPlaceRef \* MERGEFORMAT .  
A bag contains 16 colored blocks, eight red and eight yellow, and all the same size and shape.  Three bags are drawn without replacement.

a) 
List the sample space for this experiment. 


b)
List the probability for each possible number of red blocks (use the sample space).


c)
What is the probability of drawing exactly two yellow blocks?


d)
What is the probability of not drawing exactly two yellow blocks?

2 MACROBUTTON MTPlaceRef \* MERGEFORMAT .  
Your club consists of 8 members.  One will be chosen to be president, one vice–president and one secretary–treasurer.  How many different possibilities are there to fill these three offices?  

3 MACROBUTTON MTPlaceRef \* MERGEFORMAT .  

California license plates

a)  How many possible combinations (1 letter followed by 3 numbers (digits) followed by 3 letters) are there for California state license plates?


b)  How many possible combinations are there if no letter or number is repeated on the CA license plate?
4 MACROBUTTON MTPlaceRef \* MERGEFORMAT .  
You are playing 5-card draw poker (five cards – face down).  (Give your answer as a reduced fraction and a decimal rounded to 8 places.)

a.) What is the probability of being dealt an “Aces full of Kings” full-house in 5-card draw poker?  (3 aces and 2 kings)











b.) What is the probability of being dealt a full house (3 cards of one denomination and 2 cards of another)?  Hint: Think about this in stages where you first determine the number of ways to get 3 cards of one denomination and then the number of ways to get 2 cards of the second denomination.

5 MACROBUTTON MTPlaceRef \* MERGEFORMAT .  
 Alex, Beth, Charlene, and Dusty are nearing the end of a rousing game of Settlers of Catan (and play in alphabetical order).   One of them will win in this last round – but the victor depends upon the outcome of the dice where on each turn the player rolls two dice and considers the sum.  The goal is to determine the probability that each one will win, but we will do so in stages (express answers as decimals to three places):
· Alex will win if he rolls an 8 or a 9

· Beth will win if she rolls an 8 (but Alex did not win on his turn)

· Charlene will win if she rolls a 6 or less and Beth did not roll a 7 (and Alex and Beth did not win)

· Dusty will win if he gets a turn

a.) Find Pr(Alex wins).
b.) Find Pr(Beth wins).  Hint: What is the probability that Alex did not win?
c.) Find Pr(Charlene wins).
i.) First find the probability that Alex does not win.
ii.) Second, find the probability that Beth does not win and does not roll a seven (on her turn).
iii.) Then, find the probability that Charlene wins (on her turn).
iv.) Finally, put it all together and find the probability that Alex loses, Beth loses and does not roll a seven, and that Charlene wins.
d.) Find Pr(Dusty wins).

